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SA-E . S(E) - MEAY - BES 0l & o o1& o SImE=ET
M= 1 675,064 688,784 213,720
A=ME &2 629,760 643,480 A13,720
NEMY &= 629,760 643,480 A13,720
e AE == 184,135 196,987 A 12,852
301 LetEas 15,000 27,852 A 12,852
09 SUZFRALBLZS 15,000 27,852 A 12,852
OMYEAM 22X ZAZRRE 15,000 27,852 N 12,852
=9 2% 3,308,000 3,308 7,392 A4,084
Sl 2 & 5,280,000& 5,280 9,240 3,960
wSH] 23 2,746,000 2,746 4,805 A2,059
wWSH2HIE4 23 2,746,000 2,746 4,805 A2,059
28= 23 624,000& 624 1,092 N 468
get=s Z& 296,000 296 518 N222
HIHM 2 SHEE HEYI 18,654 19,522 A 868
101 el 24| 18,654 19,522 868
10 JIZEMIZ22XEE =+ 18,654 19,522 A 868
OHIZtAl 228 g LHEH JIZHI22 X 18,654 19,522 A 868
IR 2 & 13,561,000& 13,561 14,429 A 868




